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1. ses fr{r.{rfi rts ffii qRfr q{T 
'

Choose the correct answer of the following :

(a) vaq 6a1ffi coftl erd.I-sK 1R{t qq{ t
Which of the following is not a measure
of central tendency?
(t) a-s

Mean

[, wlrr
Median

fzd ffir Rp&
Standard deviation

(iul aq$
Mode

Lx6=6
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(b) ,{h <tIEr flftsK {'seEI )gKI :r.-otsq{

reI{{K GIsl-SE trfrt 

- 

qs t

The sum of the Probabilities of all

possible outcomes of a random

experiment is alwaYs

(t)"lo
(tq )/1 '
(ut) o gIiP 51{fas / Between 0 and 1

(iu) ) EtT qk-{ / More than 1

If two events A and B are independent,

then P(AnB) is given bY

O P(Al + P(B)

(u) P(A)xP(B)

ftrn P@) / P(Bl

(iu) P(AIB\

(d) rr{ <l qq< frffi <l<qrs !h fr-{-q {ffi{K
fi{il< qfi $qs rR<fE crneh w,l<l-{l fr-s<q

3r<-qK q{l q{ ?

Which probability distribution is used to

model the number of rare events

occurring in a fixed interval of time or

space?

f, frfi Rs<q

Binomial distribution

P25ILS4O (Continued )

(c) {fr F flffidT A ql-+ B ttft{ q{, cq(B

P(AaBF {1-{ e.<
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/,, trstR-s frs<q
Normal distribution

62, fiD-{ fi-s{q
Poisson distribution

[u/ rslqq etT.s ry{{
None of the above '

(e) qh q{q }qk+ qqrm.r qTAk fi-GlfrE Dq-$zbr

fttfru csrdrq{?
In a simple linear regression model, the
dependent variable is also called

6 vRvaffiru-++
predictor variable

rr;4 sGfrv uar+

response variable
(rz4 tsE D-{s

independent variable

[u/ qffi
residual

CI uaq 5qffi ffi qqqq 1fi uq-a3 TlqE
\flbffiT ftinft ?qfr+ q-"r6-+ {nlr ?

Which of the following correlation
coefficients indicates the strongest
linear relationship between two
variables?

(t) o.a / O.S

(A _o.s / _o.e

(ttt) o.v / O.B

(iu) -o.o / -O.3
P25ll54O (Turn Ouer )
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2. sE-{ eTqT$ ffii fr c{r.lt frfifi sH-{ t-s< fiv :

4x3=12
Answer a-:rry three of the following questions :

(o) mftr er<Tsn ..{h srq ffiqn< <fi6 ry11
${Il
Explain the properties of a good
measure of central tendenay.

(b) \oqs fi{f sqn{{q <rc< WITI el.l{l $-{T :

10, 15, 20, 25,30, 35, 40
Calculate the median for the following
data :

10, 15, 20, 25,30, 35, 40

(c) t-.lTRr fr-s{T{ 
"6<K.flqts 

fr ft r ?rK
<t'rTqfgRfrq r

What are the assumptions of the normal
distribution? Explain its properties.

(d) Gnr<q< bles rq-q-"f6 qFF TiIxTT{ {fqs
"ttef+i pPP{r 

'Differentiate between correlation and
regression with examples.

3. (a) flv Rpr&r rwt fin | {r+s frprG< ffir ?
C$u-{k 1qr$ ? 3

Define mean deviation. How is it
different from standard deviation?
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(b) eh bqe FE< qqlru qsB{ll qmflztr <r$r
s-{t I

Explain the concept of skewness with a
suitable diagram.

(c) qh rfrwts s q{ qaia As <E-{r q?< q'E

- 40, 50, 60, 70, gO. ?3F. {lTS frI]B
fl"r-{l T-{t t 4

The marks obtained by 5 students in a
test are 40, 50, 60,70,80. Calculate the
standard deviation.

qwr / Or

(a) ftq<l< RBa q<"K {Tfl'rTa ft fr t bnn<q fiu r 3

What are the different types of
measures of dispersion? Give examples.

(b) "rRTifl freexqis Ttr'Qq{ fl-{"m?rr ets,1dT,t3lT

q{Il 3

Explain the significance of the concept
of kurtosis in statistical analysis.

(c) EqE fi$ sar< <r.{ r{,{T qiF ryefrr @
{qqT T-{l : 4

15, 18, 20, 22,25, 30, 35
Find the median and quartile deviation
for the following data :

15, 19, 20, 22,25, 30, 35
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4. (a) tqTq{q< ffip :p1-3141 s< T-4-{ (pur) qr+

wrfil Rlg T"FT (PPr)< qqBT fi{t r 4

Define probability mass function (PMF)

and probability density function (PDF)

with examPles.

(b) eh mlv s tr <q fl, 3 bl'AqT <o qr+ 2 bl

mu-A$ aq qrcq r {fr .qh T{ tqEs-"rr<

um qqr qq, cscs ?. (,/ rs1 RKK,

fi, A-+t 6ql-{K qcm 6i, ficfr'{T q-6qKF rreTfli

ftqn2 6

A bag contains 5 red balls, 3 blue balls

and, 2 green balls. If one ball is drawn

randomly, what is the probability that
it is (i/ red,, (ii)blue or (iii) not green?

(a) t61o
T<I I

qwr / or

ft,K{K {F.fiett qh EqR{c.lzT <THfi

+

Explain the concept of conditional

probabilitY with an examPie'

(b) qh l_&. efrt'f T€ '{Dl Gq'm qqr< wfflf 0'1'
qfr s h <q rTt&T-slr< fi-dr{ 4-qi qq, (e(B

q-.q eh Tqq @fr qrsm rEfflT tB'e<l I 6

The probability of a machine producing

a defective item is O'1. If 5 items are

selected at random, find the probability

that exactlY one is defective'

P2sl L54O (Continued )
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s. (a) Rs q<,mt ft r R-+a q<{Kqr< 
"r<r 1 cccqfs

lcrs ? 5

What is a null hYPothesis? How is it
different from an alternative
hypothesis

(b) tkT{s"IT{. T}rpe I qr$ TYpe Ir Efr{ flIcF+r

fiX\9<l 1 5

Differentiate between Type I and Type II

errors with examPles.

qE{f / Or

(a) chi-squar. €tls {Kql qrs qqTT erc-Tlfl

TfI$I $TI I

Explain the concept of a chi-square test

and its apPlications.

(b) qbt {EI 100 <13 ?q e{] qn, ql-+ Tq 40 <l{

ctr<l fl'q I chi-squar" €m <Kq< oR sx
sre.flftg3\oTqfifr-<"rq ffi "ftsla-{I 1

(df =rs qE{ {r{ 3'841)

A coin is tossed 100 times, and heads

appear 40 times. Test whether the coin

is fair at a 5o/o level of significance using
the chi-square test.

(df =t, the critical value is 3'841)
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6. (a) T{Is{6r fr-celqs-{-{-q <5f{ flq& fl1rr $-{t I 6

Explain the rhethod of least squares in
regression analysis.

(b) Eqs fr{r oam{rq 5 q-{ q-4{ tm-sr 14 wr+
\eq{ g) TsRzq I x < st{\5.y l qqEnq GqK
qfr-srqzh fi.fu <tfl : 6

The following data represents'the height
(E and weight (f) of 5 students. Find the
equation of the regression line of Y on X :

X : 150 160 l7O 180 190
Y:5055606570

9411/ Or

(a) qcfr{B$ fi-celqs 15-+rir qillr{ <r{ql<rTq
ftfrr
What are the uses of index numbers in
economic analysis?

(b) EqE fril E$I{q{ fl{I frflffi T-sTis a6I4T

sll:
Compute the Fisher's index for the
following data :
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Commodity
(rynfrS

Price (rE) Quantitu ("tQv,q)

Base Year
(&fr rd)

Current Year
(6fr6 qd)

Base Year

1&&<d)

Current Year
(6freq{)

A 10 t2 5 6
B 15 18 8 9
C 20 25 10 12


